CHEM1902/1904 2008-N-14 November 2008

» For each of the following pairs of compounds, identify which is the stronger acid and
give reasons for your choice.

OH OH
"

Phenol is more acidic as the phenoxide ion is resmmce stabilised:

S-&-b-1

O O
OH OH

Chloroacetic acid is more acidic. The Cl atom islectronegative and pulls
electrons from the carboxylic acid, thus weakeninghe O—H bond.

OH OH
NO,
NO,
The para isomer is more acidic as the charge on the phenaobe ion can be
delocalised into the nitro group. This is not posbkle with the meta isomer.
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